1 2 cos x
° tanx+secx  sinx+1
- —1— cosx
sz o1 L sinx + 1
cosx ' cosx
1 cos x
mmx¥I sinx + 1
cos x
cosx _ _ cosx
sinx+1 ~ sinx+1
1
— B =
T.csc0 —coth 2 po Epp—
1 csc 8 — cot 6

— ? .
csc ¢ C0t9=cscﬂ+cot0 esc B — cot @

cscf —cot @

—_ e
csc @ cotfd 2 csc? 0 — cot2 §

csc § — cot §
= e, o
csc @ cotf £ (1+cot2|9)—cot26‘
e = cotg 2 cscﬂ;cotﬂ

cscl —cot® =csch — cotd
8.sinftan @ X sec§ — cos 6

sinftanf 2 wosg — cost

_1 . cos?g
cosf ~ cosf
1—cos?p

cos 0

¥ sin? §
2
sinftan @ 2 ]

-

sinftanf 2

|

‘ sinftanf 2

sin @
cos @

sinftanf 2 sin @

sin @ tan @ = sin § tan @

9. (sinA —cosA)2 21— 2sin? Acot A
" sin?A —2sinAcos A+ cos?A 21— 2sin?Acot A

1—-2sinAcosA 21—2sin2AcotA
21— ZSinzA_cotA
21—-2sin?Acot A

. sin 4
1—2sinAcosA snd =
. s 9 cos A
1 - 2sin A_sinA 2
1-2sin?AcotA=1-2sin?AcotA
¢ 1
10. Sample answer: sin x = 7
1
tan x. = 2 secx
tan x 1
secx 4
sin x
cosx _ L
1 4
cos x
sl X =
11. Sample answer: cos x = —1
cot ¥ + sin x = —cos x cot x
COos X + . _ cos x
sing * S X = TCOS X g o
cos x + gin? x = —cos2 x
cos? x + sin x = —cos x
1= —cosx
cosx=—1
Tcost Icot
12. B2 = Rlcscd
cos f
Icosd ? i sin @
R2 = R2 1
sin §
I cos §
Icozsﬂ ” ging  sind
Re = 1 sin 8
2
E sin @
Tcosf  Icosd
B2 T R2
Chapter 7
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Pages 434-436 Exercises
sec A
13. tan A4 2 it A
1
tan A 2 cosd
=g
sin A ’
sin A
tanA 2 s A .
tan A =tan A
14. cos § 2 sin 0 cot 8 <
cosf L gin @ ﬁ
cos 0 = cos 0
15. secx — tanx = L;T:%E
1 sin x

- ? =
SeC.x tanx 2 cos x cos %

secx —tanx = secx — tan x

1+tanx
_——
16. sinx + cosx = S€C X
sin x
1

cos x

I

_ sec x
sin X + cos x

sin x
coa x

1+

cosx —
cosx SInx + cosx

cos x + sinx ?
cos x(sinx + cosx) = secx

1 ?
cosx = BeCX

SecCX =secx

17. secxcscx 2 tanx + cot x
sinx | cosx
cos X sin x
sinx sinx | cosx cosx
cosx  sinx sinx  cosx
sin? x cos® x
coa x sin x sin x cos x
sin? x + cos? x
cos x sin x
1
cos x sin x
1 1
cosx sinx

SECXCSC X =8ecxcescx
. 2sin0 -1
18.91n8+cosﬂém .
2 sin? § — (sin?@ + cos® H)
_ sinf —cos@
sin? § — cos® @
sin @ — cos @
(sin @ — cos #)(sin # + cos 6)
8in 6 — cos @

I

Secx

secxcscx X

secxcscx X

secxcscx 2
sec x csc x X

secxcscx X

secxescx 2

sinf + cosf X

sinf + cos§ 2

sinf +cosf 2
sin @ + cos § = sind + cos @
i 2
19. (sin A + cos A)2 2 2rsecdescd

o

= secAcscA :
. g ., 9 sec A csc A
(sin A + cos 4)? 2 secAcscA | secAcscA
: 2gg 1 . 1
(sinA+cosA)2 22— == +1

(sinA+cos A2 2 2cosAsind+1
(sinA +cosA)2 2 2cos Asin A + sin? A + cos2 A
(sin A + cos A)2 = (sin A + cos 4)?




g

20.

sindtan § — tan § + sin 0 sec § — sec §

(sin § — 1)(tan § + sec §)

. sin @ sin @ i 1 1
sin f cosf | cosf + sin § cosf ~ cosd
sin?§ — sin g +sinf — 1
cos §
sin?g -1
cos @
—cos? §
cos ¢
—cos
21 'cus.z ? 1+ si)_'i Y
. l-siny = cosy
cosy l+siny » 1tsiny
l—siny 1+siny = cos.y
cos ¥(1 —sin y) , 1+siny .
1-sin?y = cosy
cosy(1+siny) , 1+siny
cos? y = cosy
l+siny 1+siny
> cosy ~  cosy
22, cos 0 cos (—8) — sin 0 sin (-9 z1
cos f cos @ — sin 8(—sin §) 2 1
cos? 8 + sinZ6 2 1
1=1
cot? x
— ] X
23.cscx—12 e
csc?x—1
escx — 1 L cscx + 1
(esex + I)(cscx — 1)
C8C.% 12 csex+ 1
cscx —1=cscx— 1
24. cos Beot B 2 csc B — sin B
1 .
? -
cos Beot B 2 snp — SinB
1 sin? B
P ==_=_
cos Beot BL 5~ Sig
. 1-sin’B
cos Beot B 2 “n B
2 cos? B
cos Beot B 2 SnB
2 cos B
cos Beot B 2 cos B SnB

cos B cot B = cos B cot B
25. sinfcos 0 tan @ + cos20 2 1

. 8
sin 6 cos 0

cos &

ing ,
.+ cos20 2 1

sin? 0 + cos29 2 1

1=1 )
26. (csc % — cot )2 2 J =2
csczx—ZCsc’xcotx+cot2x;;T$:—i-
i 51 cosx | coslx 2 1-cosx
s'mza:—zsinx'm sinx = 1 +cosx
1 - 2cosx + cos? x p l—cosx
sin? x = 1+cosx
(A—cosx)? |, 1-cosx
l—cos?x = L+cosx
(1 — cos x)? p l—cosx

(1—cosx)(l+cosx) = 1+coszx
1—cosx l1—cosx
1+ cosx 1+cosx

X —cos ¥
L —cosf
L —cosf
X —cos @
2 —cos
X —cos @
= —cos f
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y PR ' 2 cOos X sin x
27, X+ esEd g T T s
) . _cosx sin x
sinx +cosx 2 1 sinx | _ oz
cos x sin x
Sinz+ cosy 2 —COS% cosx sin x sin x
cosx = 1— sinx cosx 1 cosx sinx
cos x sin x
sinx + cos x 2 —wodfs | sinfr

cosx — sin x sin ¥ — cos x
cos? x sin? ¢
sin x — cos x sinx — cos x
sin® x — cos? x
sinx —'cos x

. (sin x + cos x)(sin x — cos x)
sin x + cos x P ——

sin x +cosx =sinx + cos x

sin x + cos x

o

sin x + cos x

I

I~

Pages 433-434 Check for Understanding

. Answers will vary. . . e
; Sample answer: Squaring each side can tur

ities. For
unequal quantities into equal quantities

2
- but (-1)% = 1% .
xample, —1 # 1, :
3 eS mplie answer: They are the trigonometric
. Sa

i most
functions with which most people are

familiar.
_ 4. Answers will vary. w

cot x
5. cos % L oo

cosx = =1

cosx X
cosx = CO8 X’




